[d” sum p_/dnd¢{GeV]

Ratio to ATLAS

[EEY

0.5

7000 GeV pp Underlylng Event
= L L B B I B B B 2
- —
- Sum(pT) Density (AWAY) (h] <2.5, p_>0.1 GeV) ] %
- —=
~ m  ATLAS m»
— --i3-- Herwig 7.2.0 default — N
—  —a— Pythia 8.135 default :Si
- ¢ Sherpa 1.3.0 default :02'
— —2
— -
B =)
— -1 M
- <
o™
— o
— -0
- i ep)
—
B 1=
~ X<
- —ls
| i
Q
B 1<
B 1@
R — 9
| — »n
- e
- 1o
(&)
— I |_ E
— j |:
— =2
I _
) |
o 3 1
| —0.5
" 1 1 1 1 | 1 1 1 1 | " 1 1 1 " 1 " | " 1 " 1 " 1 " 1 "
0 ) 10 15 20

P, (leading track) [GeV]
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